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Introduction
In last RAN4 meeting, the interference issue on SS-RSRP measurement accuracy test was identified. In this contribution, we will provide our solution to solve this issue.
Discussion
[bookmark: OLE_LINK232][bookmark: OLE_LINK233][bookmark: OLE_LINK665][bookmark: OLE_LINK666][bookmark: OLE_LINK667]In RAN4#90 meeting, we provided our simulation results of SS-RSRP measurement accuracy to show some interference issues in [1]. In sync network, due to the strong cross-correlation between the SSS sequences from two cells, the measured SS-RSRP will be under-estimated or over-estimated under some cell ID combinations and may not meet the accuracy requirements defined in TS38.133.
In SS-RSRP intra-frequency measurement accuracy tests, the NR serving cell will cause strong interference to the target cell. The cell identity of target cell is randomly generated for each test loop. Once these specific cell ID combinations are selected, then the SS-RSRP measurement accuracy performance will decrease and the UE under test may fail the accuracy tests.
The following two options are proposed to deal with the interference issues for specific cell ID combinations.
· Option 1: A list of all the interference cell ID combinations are provided, which shall be excluded in SS-RSRP intra-frequency measurement accuracy tests.
· Option 2: SSBs from two cells are not overlapped in time domain, i.e. TDM transmitted.
For option 1, there will introduce a heavy workload. Companies shall evaluate the SS-RSRP measurement accuracy under 507528 (=1008*1007/2) cell ID combinations in order to find out all the interference cell ID combinations, and companies shall align with the list of interference cell ID combinations.
For option 2, the test setup need to be modified. For FDD network, serving cell and neighbour cell are usually assumed to be asynchronous, same SSB index can be configured but the cell offset shall be large enough in order to make SSBs from two cells being TDM transmitted. For TDD network, serving cell and neighbour cell would be synchronous, different SSB index shall be configured for serving cell and neighbour cell to make SSBs from two cells being TDM transmitted.
Proposal 1: Two options are suggested to solve the interference issues in SS-RSRP measurement accuracy tests.
· Option 1: A list of all the interference cell ID combinations are provided, which shall be excluded in SS-RSRP intra-frequency measurement accuracy tests.
· The SS-RSRP measurement accuracy need to be evaluated under 507528 (=1008*1007/2) cell ID combinations, which will introduce a heavy workload.
· Option 2(Preferred): SSBs from two cells are TDM transmitted
· The test setup for SS-RSRP intra-frequency measurement accuracy tests need to be modified.

Conclusions
This contribution provides the solution to solve interference issue for SS-RSRP measurement accuracy tests, and the following is provided:
Proposal 1: Two options are suggested to solve the interference issues in SS-RSRP measurement accuracy tests.
· Option 1: A list of all the interference cell ID combinations are provided, which shall be excluded in SS-RSRP intra-frequency measurement accuracy tests.
· [bookmark: _GoBack]The SS-RSRP measurement accuracy need to be evaluated under 507528 (=1008*1007/2) cell ID combinations, which will introduce a heavy workload.
· Option 2(Preferred): SSBs from two cells are TDM transmitted
· The test setup for SS-RSRP intra-frequency measurement accuracy tests need to be modified.

Conclusions
[1]. R4-1901210, “ Further discussion on SSB based measurement accuracy”, Huawei, HiSilicon
8

2

